Chassis Systems 8th Edition
Quiz 12B

Name

MULTIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.

1) What is the technician doing in this illustration?

A) Hold down spring removal/ replacement
B) Shoe return spring adjustment

C) Shoe clearance adjustment

D) Unbolting the shoe retainer

2) Technician A says that most experts recommend replacing all drum brake hardware, including
the springs, every time the brake linings are replaced. Technician B says that the starwheel
adjuster must be cleaned and lubricated to assure proper operation. Which technician is correct?

A) Technician A only

B) Technician B only

C) Both technicians A and B
D) Neither technician A nor B

3) A frozen adjuster can cause a low brake pedal.
A) True
B) False

4) Dry backing plate pads can cause the brakes to squeak.
A) True
B) False

5) Technician A says to use synthetic grease to lubricate the backing plate. Technician B says to use
special lithium-based brake grease to lubricate the backing plate. Which technician is correct?
A) Technician A only
B) Technician B only
C) Both technicians A and B
D) Neither technician A nor B
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6) The backing plate should be replaced if the shoe contact areas (pads or ledges) are worn more 6)
than .
A)1/2in. (13 mm)
B)1/4in. (7 mm)
C)1/8in. (4 mm)
D) 1/16 in. (2 mm)

7) What is the technician checking in this illustration? 7)

A) Shoe diameter

B) Shoe-to-backing plate clearance
C) Shoe-to-drum clearance

D) Shoe conicity

8) After assembling a drum brake, it is discovered that the brake drum will not fit over the new 8)
brake shoes. Technician A says that the parking brake cable may not have been fully released.
Technician B says to check to see if both shoes are contacting the anchor pin. Which technician is
correct?

A) Technician A only

B) Technician B only

C) Both technicians A and B
D) Neither technician A nor B

9) Technician A says to use masking tape temporarily over the lining material to help prevent 9)
getting grease on the lining. Technician B says that grease on the brake lining can cause the
brakes to grab. Which technician is correct?
A) Technician A only
B) Technician B only
C) Both technicians A and B
D) Neither technician A nor B

10) Today, most wheel cylinders are rebuilt, rather than replaced. 10)
A) True
B) False
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